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Mixed ladder problems (Imin per column) #3

50% of 152 = 21) 50% of 140 =
50% of 34 = 22) 50% of 122 =
50% of 156 = 23) 50% of 4 =
50% of 142 = 24) 50% of 60 =
25% of 92 = 25) 25% of 20 =
25% of 100 = 26) 25% of 76 =
25% of 4 = 27) 25% of 64 =
25% of 28 = 28) 25% of 56 =
20% of 100 = 29) 20% of 65 =
20% of 50 = 30) 20% of 45 =
20% of 75 = 31) 20% of 30 =
20% of 90 = 32) 20% of 70 =
1461 + 671 = 33) 1296 + 851 =
291 + 2564 = 34) 987 + 874 =
90 4 704 = 35) 840 + 918 =
41 + 300 = 36) 787+ 850 =
1.5+ 0.5 = 37) T.T+7.8 =
0.7+ 0.5 = 38) 4.8+490.1=
7TH+4.2= 39) T+3.5=
6.4+ 3 = 40) 0.4+ 3.9 =
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Mixed ladder problems (Imin per column) #3 (Solutions)

50% of 152 = 76
50% of 34 = 17
50% of 156 = 78
50% of 142 =71
25% of 92 = 23
25% of 100 = 25
25% of 4 =1
25% of 28 =7
20% of 100 = 20

20% of 50 = 10
20% of 75 =15
20% of 90 = 18
1461 + 671 = 2132
291 + 254 = 545
90 + 704 = 794

41 4+ 300 = 341
1.54+0.5=2

9.74 0.5 =10.2
75+42=11.7
6.44+3=94
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50% of 140 = 70
50% of 122 = 61
50% of 4 = 2

50% of 60 = 30
25% of 20 =5
25% of 76 = 19
25% of 64 = 16
25% of 56 = 14
20% of 65 = 13
20% of 45 =9
20% of 30 = 6
20% of 70 = 14
1296 + 851 = 2147
987 + 874 = 1861
840 4 918 = 1758
787 + 850 = 1637
7.74+7.8=15.5
4.8+9.1=13.9
74+ 3.5=10.5
04+4+39=4.3



